
https://kompege.ru/variant?kim=25072710 
 
 

1 77 

 
 

2 zywx 
print('x,y,z,w,f') 
for x in range(2): 
    for y in range(2): 
        for w in range(2): 
            for z in range(2): 
                f=((y<=x)<=w)==(z or y or w) 
                if f==0: 
                    print(x,y,z,w,int(f)) 
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3 1030500 

 

4 23 

 

5 31 
for n in range(1,100): 
    n2=bin(n)[2:] 
    if n2.count('1')%4==0: 
        s='10'+n2[2:]+'01' 
    else: 
        s='11'+n2[1:]+'1' 
    r=int(s,2) 



    #print(n,n2,s,r) 
    if r>=127: 
        print(n,r) 
     
 

 
 

6 0 
использовать Черепаха 
алг 
нач 
опустить хвост 
нц 55 раз 
вперед(69) 
влево(90) 
вперед(84) 
влево(90) 
 
кц 
поднять хвост 
вперед(60) 
вправо(90) 
вперед(47) 
вправо(90) 
опустить хвост 
нц 31 раз 
вперед(104) 
влево(90) 
вперед(140) 
влево(90) 
кц 
кон 
 



 

7 65536 
1920 * 1080 * x * (1 - 0,28)  бит 
—---------------------------------------  <= 3 Мбайт 
  8 *1024 * 1024   
 
x<=16,85 
x=16 
N=65536 

8 177184 
x='0123456789abcdef' 
k=0 
for i1 in '2468ace': 
    for i2 in x: 
        for i3 in x: 
            for i4 in x: 
                for i5 in '13579bdf': 
                    s=i1+i2+i3+i4+i5 
                    if s[0]!=s[1]: 
                        if s[1]!=s[2]: 
                            if s[2]!=s[3]: 
                                if s[3]!=s[4]: 
                                    k=k+1 
print(k) 
 
177184 

9 1945 
 



 

10  

11 513 
71 * х  
—------   * 9765  >= 834 * 1024 
   8 
 
x >= 9,85 
x = 10 
29 + 1 <= N <= 210  
N = 513 

12  
for n in range(1,1000): 
   c = "-" + n*"+" 
   while "-+" in c or "2++" in c or "++++" in c: 
       if "-+" in c: 
           c = c.replace("-+","2+",1) 
       if "2++" in c: 
           c = c.replace("2++", "--", 1) 
       if "++++" in c: 
           c = c.replace("++++", "22", 1) 
   if (c.count("+")  + c.count("-")) == 251: 
       print(n, c.count("+")  + c.count("-")) 
 



 

13  

14  

15  

16 

17 2 56474 
f=open('17 (1).txt') 
a=[] 
for y in f: 
    a.append(int(y)) 
 
k=0 
smin=300000*2 
for i in range(len(a)-2): 
    n=0 
    if abs(a[i])%11==0 and abs(a[i])%10==3: 
        n=n+1 
    if abs(a[i+1])%11==0 and abs(a[i+1])%10==3: 
        n=n+1 
    if abs(a[i+2])%11==0 and abs(a[i+2])%10==3: 
        n=n+1 
    if n==2: 
        k=k+1 
        if 2*(a[i]+a[i+1]+a[i+2])< smin: 
            smin=2*(a[i]+a[i+1]+a[i+2]) 
print(k, smin)     
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